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=2 1 U3 HA 2 U HA % 3- U HA 5 4- U HA
(4A9H~7H8H16R8) (7H16 H~10 A 15 H) (AB~ABR) (AB~ABR)
1 132 =+ 1.0" - + +
2 132 =+ 05" 132 = 10 =+ +
3 111 £ 15% 110 =+ 1.7¢ + +
4 - 152 =+ 0.0* + +
5 153 + 1.8 153 =+ 0.5% + +
6 119 =+ 05 118 =+ 05 + +
7 115 + 1.3 116 =+ 2.77 + +
8 130 =+ 05 131 += 19 =+ +
9 119 =+ 0.9* 119 =+ 06%* + +
10 106 =+ 05% 104 =+ 0.0 + +
b 855 B 46 =+ 03 45 =+ 04 + +
(48B6HB~7H21H) (7HB3B~10819H)
*x1 EREHRIE4 B 10BH~7 A 16 HTH S, *5: B RN E TUHFELEIERL == XA,
*x2: REHMIEZ4 A 98~7A17BThHS, x6: S BEHMIZ7 A 17 H~10 A 15 HTH S,
*¥3:BEIED-HEBET, *7 EREHIMIL 7 A 16 H~10 A 16 HTH 5.
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